EARAROBEEIERT — 2 N— IBISH —F

20195E8A6H () 6m)IIIB3H

7\/\"—#‘/7"7‘—’51—%,@% 70 Y7XR2m%K ‘(ﬂ;} 5 ‘liéiH%Fsﬁ] — | 4 (%) o0 B
[A&4£] 1 7% :2,700,000 @ 23 :1,026,000 @ 3 3&:675,000 4 3% :405,000 @ . 5 7& :324,000 M
B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4 2 | BEAIREE 55.4 1-1-1 38.3| — 3 491 | fERAAZ (11E)
115|572V 7L =LA 54.0 (=) (=) |BIEsER
LibhwHI—I R B:5TY—=X71—F HiRI45
. i 2 | RERZ 55.7 4-4-3 375 — 2 428 | LSt ()1108)
EHG JzT7 Y- 50 A 1/2) (—) |, B xrBy bT7—L
LTANWNGTTFY— B:TLAYT7TI— IR
. N s 2 | WiEgETE 55.9 2-2-2 385 — 1 452 | FIEBER (1)
31111 JY by 54.0 (11/2) (=) JLigE=
L:xF1=Frp—X B:74 2 )NL—FK Eld=t e
N N BTHEZ -3~ — SERE— (1)
4 2 JgO—YFRTF— 4 2 54.01_15 5(64.)8 2-3-3 39.2 6 (433; ced
L:ZNXA—E—h+ B:Y2IUX R Bt KMEX7-T0
33 2 | HEEKE . -6~ . - BE=3 (Il
5 4| Ty — 4 it (576t5§> 5-6-6 | 37.9 5 (414) el
R:A—J XL A4 B:VILIXT4 X 1EBENS
o oo s —5— — HHFE (1
5 3| ALFLYa it 2 s 5(73.)4 5-5-5 |38.8 4 (337) %Dﬁf (i)
L:Tv 2 JWRry b Bi/—bMVT7 T2 ZETT7 — L
® 1—F—@EBIERL
13—7-—
2a=5F= 5,(1,2),6, (3,4)
Ja=7= 5,1,2,6,3,4
43—+ — 5,1,(2,6),3,4
[ /N
B 5 680M 714K 5-6 240M B E 5-6 1,320 JEE 1-5-6 290M
B B 5 240M 155 170H B H 5-6 2,810 3EE 5-6-1 5,780
6 210M 1-6 150H

ABICOVWTRDTEEERROODE. TR LIV,




